Estimating

Give the estimate of the following answers to the nearest ten

Fill the answer after the = sigh and the estimate in the box

y 3+7 + 8= » B0 + 7 =

5 77 +5 = 9y 8 +8+ 2=

5 D+ 4 = o 92 + 9 =

, 2 +9 + 7 = » (100 - BO) + 7=
-




Give the estimate of the following answers to the nearest ten

Fill the actual figure after the = sign and the estimate in the box

Answers

1)

3)

5)

7)

3+7+8=18
20
77 + 5 = 82
80
5+4=9
10
2+9+7=18
20

2) 50 + 7 = 57
60

4) 8+8+2=18

20
6) 92 + 9 = 101

100

8) (100 - 50) + 7= 57

60

J




